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QUESTION 1

Select the SQL command that must be executed prior to executing the EXECUTE command. 

A. CREATE FUNCTION 

B. PREPARE 

C. DECLARE 

D. LOAD 

E. ALLOCATE 

Correct Answer: B 

 

QUESTION 2

There is a table "tb1" that has a column "c1" defined as type TEXT. The following SQL is executed while 

client "A" is connected. 

BEGIN; 

LOCK TABLE tb1 IN ACCESS EXCLUSIVE MODE; SELECT * FROM tb1; While the above \\'SELECT\\' 

statement is being executed, client "B" connects to the same database and executes the following SQL. 

Select two correct statements describing the behavior of PostgreSQL. INSERT INTO tb1 (c1) VALUES 

(\\'new line\\'); 

Note: the default transaction isolation level is set to "read committed". 

A. The process for client "B" is blocked until the current connection for client "A" is finished. 

B. The process for client "B" is blocked until the current transaction for client "A" is finished. 

C. The process for client "B" will be deleted regardless of the condition of client "A". 

D. The process of client "B" will affect the SELECT result of client "A". 

E. The process of client "B" will not affect the SELECT result of client "A". 

Correct Answer: BE 

 

QUESTION 3

Select one incorrect statement about schemas. 

A. A schema is the name space for a database object. 
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B. A new schema is created by \\'CREATE SCHEMA\\'. 

C. One user cannot own multiple schemas. 

D. \\'SELECT current_schema();\\' returns the current schema. 

E. \\'DROP SCHEMA\\' deletes a schema. 

Correct Answer: C 

 

QUESTION 4

The "sample" table consists of the following data. How many rows are returned by executing the following SQL
statement? 

SELECT i FROM sample GROUP BY i; 

A. 1 row 

B. 2 rows 

C. 3 rows 

D. 4 rows 

E. 5 rows 

Correct Answer: C 

 

QUESTION 5

Select two incorrect statements concerning the system catalog. 

A. It stores the object definition information for tables and columns. 

B. There may be changes to specification by major version upgrades. 

C. It is accessible as a table; however, it is output in binary format so it can not be read as is. 

D. It stores the internal information of the database management system. 

E. It is defined based on the standard SQL specification. 

Correct Answer: CE 
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